VENDOR

College Station, TX 77843-1477 PURCHASE ORDER

Order Date: 01/23/2017

01 Page:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700050

INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

19429602358 THE MATHWORKS INC 3 APPLE HILL DRIVE NATICK, MA 01760

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O OATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 OATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
	USER REF: 000000-MC				
	DEPARTMENT CONTACT: MOHAMED ISMAIL ***********************************				
	PAYMENT TERMS: 100% NET 30 UPON RECEIPT OF GOODS OR INVOICE WHICHEVER IS LATER				
	Texas A&M University - Qatar is seeking pricing for the following Software Maintenance Services for the period of February 1, 2017 through January 31, 2018.				
	Software Maintenance Service shall include:				
	-The latest updates to your MATLAB and Simulink products, with releases twice a year. -Worldwide technical support from specialized engineers -MATLAB Mobile on MathWorks Cloud				
	Renewal:				
	Texas A&M University - Qatar reserves the right to renew the awarded agreement for an additional four (4) years, one (1) year at a time, if mutually agreed upon by both parties with all terms and conditions remaining firm.				
PAW					
PAW	additional four (4) years, one (1) year at a			Terms	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 01/31/2018

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

P700050

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

19429602358 THE MATHWORKS INC 3 APPLE HILL DRIVE NATICK, MA 01760

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874 DOHA 00000

Order Date: 01/23/2017

Page:

02

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O OATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 OATAR

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

reev	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
ITEM	Discussion 1000				
	If renewal option is exercised, the vendor may increase their price to reflect the cost of providing service. A maximum percentage increase must be provided for each extension period.				
	2-1-18 - 1-31-19:				
	NOTE: If bidder fails to indicate a maximum percentage increase for each extension period, it will be assumed the percentage is zero (0%).				
	Cancellation				
	Upon award, any order is subject to cancellation, without penalty, either in whole or part, if funds are not appropriated.				
	Texas A&M University reserves the right to immediate cancellation due to non-performance.				
	Texas A&M University reserves the right to cancellation with a thirty (30) day written notice.				
1	MATLAB (MLSMS)	176	EA	22.560	3,970.56
2	Simulink (SLSMS)	75	EA	15.000	1,125.00
PAW					
				Terms:	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchase from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.

Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 01/31/2018

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

01/23/2017 03 Page:

Order Date:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700050

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

19429602358 THE MATHWORKS INC 3 APPLE HILL DRIVE NATICK, MA 01760

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O OATAR FOUNDATION EDUCATION CITY P. O. BOX 23874

DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 **QATAR**

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
3	Bioinformatics Toolbox (BISMS)	2	EA	39.360	78.72
4	Communications System Toolbox (CMSMS)	56	EA	10.560	591.36
5	Computer Vision System Toolbox (VPSMS)	2	EA	39.360	78.72
6	Control System Toolbox (CTSMS)	76	EA	10.560	802.56
7	Curve Fitting Toolbox (CFSMS)	32	EA	13.560	433.92
8	DSP System Toolbox (DSSMS)	56	EA	10.560	591.36
9	Data Acquisition Toolbox (DASMS)	4	EA	39.360	157.44
10	Econometrics Toolbox (ETSMS)	2	EA	39.360	78.72
11	Embedded Coder (ECSMS)	4	EA	112.560	450.24
12	Filter Design HDL Coder (FHSMS)	1	EA	49.920	49.92
13	Financial Toolbox (FISMS)	2	EA	39.360	78.72
14	Fixed-Point Designer (POSMS)	2	EA	112.560	225.12
15	Fuzzy Logic Toolbox (FLSMS)	2	EA	39.360	78.72
16	Global Optimization Toolbox (GDSMS)	6	EA	26.160	156.96
17	HDL Coder (HDSMS)	1	EA	124.920	124.92
18	Image Acquisition Toolbox (IASMS)	3	EA	39.360	118.08
19	Image Processing Toolbox (ICSMS)	74	EA	10.560	781.44
20	Instrument Control Toolbox (IPSMS)	3	EA	39.360	118.08
PAW					
				Terms:	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. $0\,1/3\,1/2\,0\,18$

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

01/23/2017 Page:

Order Date:

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700050

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

19429602358 THE MATHWORKS INC 3 APPLE HILL DRIVE NATICK, MA 01760

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR

C/O OATAR FOUNDATION

EDUCATION CITY P. O. BOX 23874 DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000

QATAR

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

TITEM	78.72
Mapping Toolbox (MgSMs) Model Predictive Control Toolbox (MPSMS) Model-Based Calibration Toolbox (MBSMS) Neural Network Toolbox Maintenance(NNSMS) OPC Toolbox (OTSMS) Optimization Toolbox (OPSMS) Parallel Computing Toolbox (DMSMS) Partial Differential Equation Toolbox (PDSMS) Description Toolbox (MBSMS) EA 49.920 1 EA 49.920 26.160 27 28 Partial Differential Equation Toolbox (PDSMS) Partial Differential Equation Toolbox (PDSMS)	
Model Predictive Control Toolbox (MESMS) 24 Model-Based Calibration Toolbox (MBSMS) 25 Neural Network Toolbox Maintenance(NNSMS) 26 OPC Toolbox (OTSMS) 27 Optimization Toolbox (OPSMS) 28 Parallel Computing Toolbox (DMSMS) 29 Partial Differential Equation Toolbox(PDSMS) 20 20 20 20 20 20 20 20 20 20 20 20 20 2	10 02
Neural Network Toolbox Maintenance(NNSMS) 14 EA 19.200 26 OPC Toolbox (OTSMS) 27 Optimization Toolbox (OPSMS) 28 Parallel Computing Toolbox (DMSMS) 29 Partial Differential Equation Toolbox(PDSMS) 20 20 20 20 20 20 20 20 20 20 20 20 20 2	49.92
26 OPC Toolbox (OTSMS) 27 Optimization Toolbox (OPSMS) 28 Parallel Computing Toolbox (DMSMS) 29 Partial Differential Equation Toolbox (PDSMS) 20 30 360	124.92
26 OPC TOOLBOX (OISMS) 27 Optimization Toolbox (OPSMS) 28 Parallel Computing Toolbox (DMSMS) 29 Partial Differential Equation Toolbox (PDSMS) 20 20 20 20 20 20 20 20 20 20 20 20 20 2	268.80
27 Optimization Toolbox (OPSMS) 28 Parallel Computing Toolbox (DMSMS) 29 Partial Differential Equation Toolbox(PDSMS) 2 EA 39.360	49.92
28 Parallel Computing Toolbox (EMSPAS) 29 Partial Differential Equation Toolbox (PDSMS) 2 EA 39.360	156.96
29 Partial Differential Equation Toolson(155.5)	235.44
39.360	78.72
30 RF Toolbox (RFSMS) 2 EA 39.360	78.72
31 Robust Control Toolbox (RCSMS) 2 EA 39.360	78.72
32 Signal Processing Toolbox (SGSMS) 56 EA 10.560	591.36
33 SimBiology (SBSMS) 2 EA 112.560	225.12
34 SimEvents (SESMS) 1 EA 49.920	49.92
35 SimRF (RBSMS) 2 EA 39.360	78.72
36 Simscape (SSSMS) 21 EA 19.200	403.20
37 Simscape Driveline (LDSMS) 1 EA 49.920	49.92
38 Simscape Electronics (SNSMS) 1 EA 49.920	49.92
PAW	

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time FAILURE 10 DELIVER - It the ventor tails to derive these supplies of the profiled delivery and the of articles the test the ready of the profiled th vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

N

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. $0\,1/3\,1/2\,0\,18$

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

19429602358 THE MATHWORKS INC 3 APPLE HILL DRIVE NATICK, MA 01760

INCLUDE P.O. NUMBER ON ALL

P700050

CORRESPONDENCE AND PACKAGES

Invoice To:

TEXAS A&M UNIVERSITY

TEXAS A&M UNIVERSITY @ QATAR C/O OATAR FOUNDATION

Order Date: 01/23/2017

Page:

05

EXTENDED PRICE

49.92

EDUCATION CITY P. O. BOX 23874

DOHA 00000

Ship To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000

QATAR

QUANTITY

PAYMENT WILL BE DELAYED.

UOM

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED

UNIT PRICE

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

DESCRIPTION

49.920 1 EΑ Simscape Fluids (SHSMS) 39 49.92 49.920 EΑ 1 Simscape Multibody (MSSMS) 40 824.40 54.960 15 EA Simscape Power Systems (PSSMS) 41 49.92 49.920 1 EA Simulink 3D Animation (VRSMS) 42 549.60 54.960 10 EΑ Simulink Coder (RTSMS) 43 118.08 39.360 EA Simulink Control Design (SDSMS) 3 44 549.60 54.960 Simulink Desktop Real-Time (WTSMS) 10 EΑ 45 49.92 49.920 1 EΑ Spreadsheet Link (ELSMS) 46 337.68 112.560 3 EA Stateflow (SFSMS) 47 384.00 19.200 Statistics & Machine Learning Toolbox (STSMS) EA 20 48 792.00 75 EA 10.560 Symbolic Math Toolbox (SMSMS) 49 268.80 EA 19.200 System Identification Toolbox (IDSMS) 1.4 50 49.92 49.920 EΑ 1 Vehicle Network Toolbox (VNSMS) 51 288.00 19.200 15 EA Wavelet Toolbox (WASMS) 52 Note To Bidders:

Texas A&M

PAW

Award:

ITEM

FOB: NOT SPECIFIED

Texas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER – If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement Services.

The award shall be made based on the following "Best Value Criteria". Te

University reserves the right to consider the following and any other factors deemed

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

Ν 3.0

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. 01/31/2018

VENDOR

College Station, TX 77843-1477

PURCHASE ORDER

INCLUDE P.O. NUMBER ON ALL CORRESPONDENCE AND PACKAGES

P700050

VENDOR GUARANTEES MERCHANDISE DELIVERED ON THIS ORDER WILL MEET OR EXCEED SPECIFICATIONS IN THE BID INVITATION.

ALL TERMS AND CONDITIONS SET FORTH IN THE BID INVIATION BECOME A PART OF THIS ORDER.

Vendor:

19429602358 THE MATHWORKS INC 3 APPLE HILL DRIVE NATICK, MA 01760

ANY EXCEPTIONS TO PRICING OR DESCRIPTION CONTAINED HEREIN MUST BE APPROVED BY THE TEXAS A&M DEPARTMENT OF PROCUREMENT SERVICES PRIOR TO SHIPPING.

Invoice To:

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY @ QATAR C/O QATAR FOUNDATION EDUCATION CITY P. O. BOX 23874

Order Date: 01/23/2017

Page:

06

Ship To:

DOHA 00000

TEXAS A&M UNIVERSITY TEXAS A&M UNIVERSITY AT QATAR C/O QATAR FOUNDATION EDUCATION CITY DOHA, QATAR 00000 QATAR

PLEASE NOTE: IF YOUR INVOICE IS NOT ADDRESSED AS INSTRUCTED PAYMENT WILL BE DELAYED.

ITEM	DESCRIPTION	QUANTITY	UOM	UNIT PRICE	EXTENDED PRICE
ITEM	necessary to evaluate the offer and determine the "Best Value" for the University. - Vendor's ability to meet the specifications and requirements; - Delivery requirements after the receipt of order The acquisition prices/rates of discounts - Acceptance of payment terms TAMUQ reserves the right to accept or reject any or all offers, to waive informalities and technicalities, to accept the offer considered the most advantageous to the University. VENDOR REF: CORINE CHANCEREL PHONE: 508-647-7176	QUANTITY	UOM	TOTAL	17,650.92
WAq				T	

FOB: NOT SPECIFIED

Fexas A&M University cannot accept collect freight shipments.

FAILURE TO DELIVER - If the vendor fails to deliver these supplies by the promised delivery date or a reasonable time thereafter, without giving acceptable reasons for delay, or if supplies are rejected for failure to meet specifications, the State reserves the right to purchase specified supplies elsewhere, and charge the increase in price and cost of handling, if any, to the vendor. No substitutions or cancellations permitted without prior approval of the Texas A&M Department of Procurement

The State of Texas is exempt from all Federal Excise Taxes.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Chapter 20, Title 122A, Revised Civil Statutes of Texas, for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas. Terms:

IN ACCORDANCE WITH YOUR BID, SUPPLIES/EQUIPMENT MUST BE PLACED IN THE DEPARTMENT RECEIVING ROOM BY:

This Order is not valid unless signed by the Purchasing Agent. $0\,1/3\,1/2\,0\,18$